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4.1 5iv

In[1]:

Out[1]:

~FIHET

import numpy as np
import pandas as pd
df2 = pd.read_csv('shopping.csv')
df2 = df2[["id",""date",""money"]]

df2.describe()

id area_mean

count| 5.690000e+02 [ 569.000000

mean | 3.037183e+07 [ 654.889104

std 1.250206e+08 | 351.914129

min |8.670000e+03 | 143.500000

25% |8.692180e+05 (420.300000

50% |9.060240e+05(551.100000

75% |[8.813129e+06 | 782.700000

max |9.113205e+08 [ 2501.000000
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In[2]:  df2.head(8) #HiI8HR

o
5555

df2.tail() #EKIA,

Out[2]:
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4.1 5iv

In[3]:

AR

Out[3]:

df2[df2.money > 10].count() #F1tIEnafIEi=

id 6
date 6
money 6
dtype: int64
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In[4]:

AR

> 4.1 FiHIHEE

df2.sort_values(by

Out[4]:

ue).head()

B Al

money'' ,axis=0,ascending=Tr
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In[5]:  df2.sort index(axis=1).head(3) #}%75l

In[6]: df2.sort_index(axis=0,ascending=False).head(3) #&Z{7
Out|6]:

d
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4.2 3\ /FH
In[7]: | import os
print(os.getcwd())

In[8]: df2.head(3).to_csv(''df2.csv")

In[9]: import pandas as pd
df3 = pd.read_csv('df2.csv')

d
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In[10]: df2.head(3).to_excel("df3.xls” ,index=False)

In[11]:  df3 = pd.read_excel("df3.xls")
df3

Out[11]:

d
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4.3.1 ZEHF

In[1]: | import numpy as np

import pandas as pd

data = pd.read_csv('datal.csv')

sort_data = data.sort_values(
by = ['&i%', "5l
ascending = [True , False]

)
FE o INFHEFEFord Y

d
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L2 R E AP

Ll

In[2]:  jmport numpy as np
import pandas as pd
data = pd.read_csv('data2.csv')

print(data)
dIndex = data.duplicated() #3522 EE
dIndex

dIndex = data.duplicated([“[£51’]) #IERIFITFEES
dIndex

data[dIndex] #I2ENEE1T

d
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In[3]:

import numpy as np
import pandas as pd
data = pd.read_csv('data2.csv')

print(data)
cdata = data.drop_duplicates([‘[£51’]) #HIIRES1T
cdata

d
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4.3.3 SRRZFEAEPE

In[4]:  jmport numpy as np

import pandas as pd

data = pd.read_csv('data3.csv')

print(data)

print(data.isnull()) #3¢notnull ¥ETERETREK

data.;H# = data.j5#%.fillna(data.jHZ%.mean()) #3EIIEIHF
print(data)

cdata = data.dropna() #fflBRERE
print(cdata)

d




v S5PU= PANDASSELSEURES T > 4.3 HUEEE

4.3.3 SRRZFEAEPE

In[5]: import pandas as pd

import numpy as np
A=pd.DataFrame(np.array([10,11,20,21]).reshape(2,2),columns=list(
"ab'"),index=list("'SW"))
B=pd.DataFrame(np.array([1,1,1,2,2,2,3,3,3]).reshape(3,3),
columns=list(''abc'),index=1list(""SWT"))

C=A+B

D=A.add(B,fill_value=0)

E=A.add(B,fill value=A.stack().mean())

C.dropna(axis=0)

C.fillna(0) #C.fillna(method="bfill") # F— P IERK(BEIEFTIZIRLE
C.fillna(method="ffill* ,axis=1) #BI— N IER&LBEIEFRIZIALE

g
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4.3.4 FrEEPE AL

In[6]:

import numpy as np

import pandas as pd

data = pd.read_csv('data4.csv')
data.name = data.name.str.strip()
data.to_csv('data4_new.csv’, index=0)
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4.4.1 BUEMFAF 5L

In[7]: import numpy as np

import pandas as pd

data = pd.read_csv(‘data5.csv’) #E{BRNEIESIEENMEENEIF2EE
data.HiESHY = data.HBiESHg.astype(str)

data.HiES{.dtype

data.HiESHY = data.HBiESi9.astype(float)

data.HiES{.dtype

d
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4.4.2 FAFERI [H]

In[8]:

import numpy as np

import pandas as pd

data = pd.read_csv('datab.csv')

data['HJ|8]'] = pd.to_datetime(
data.jE AT,
format='%Y/%m/%d'

)
data[‘®EB’] = data.Ad[8).dt.strftime (‘% Y-%m’) #AFAIHIHSTIL

IR : %Y £ %mB %dH %HEf %M53 %sFb

g




V 5500E PANDASH T SEUESTT

> 4.5 ZfEHEY

4.5 FEm

SHEHHEN AR /IZL:

21797

SRR NSRRIV L FEREER D ICRANE

B ORGFEHYFERANCR |, EET5ET

I FELIFIT. ICRIMENANRE .




v S5PU= PANDASSELSEURES T > 4.5 ZfEHEY

4.5.1 7By

In[9]:

import numpy as np

import pandas as pd

data = pd.read_csv('dataZ.csv')

data.tel = data.tel.astype(str)

data[‘bands’] = data.tel.str.slice(0,3) #REIEE , AEERIEIA
data['areas'] = data.tel.str.slice(3,7)

data['nums'] = data.tel.str.slice(7,11)

data

d
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4.5.1 7By

In[10]:

import numpy as np

import pandas as pd

data = pd.read_csv('data8.csv')

datas = data.name.str.split(‘ ’, 1 , True) #E_NSHEHn+1 , 5

datas.columns = ['band’', 'name’']
datas

d
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4.5.1 7By

In[11]:

import numpy as np

import pandas as pd

data = pd.read_csv('data9.csv')

data['BJ[@'] = pd.to_datetime(data.;EHARIE)
data['fE'] = data.fJ[d).dt.year

data['[d'] = data.fJ|d).dt.weekday

data

d
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4.5.2 1R

In[12]:
import numpy as np

import pandas as pd

from datetime import datetime
data = pd.read_csv('datalO.csv')

datal = data[data.title.str.contains('"¥£/3', na=False)] #X
data2 = data[data.title.isnull()]

data3 = data[data.comments>10000]

data4 = data[data.comments.between(1000, 10000)]

EiAJFHEN

d
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4.5.2 1R

In[12]:  data['ptime'] = pd.to_datetime(data.ptime)

dtl = datetime(year = 2015,month=1,day=1)

dt2 = datetime(year = 2015,month=12,day=31)

data5 = data[(data.ptime>=dtl) & (data.ptime <= dt2)] #F=iZz\LFHY
5ix !

data6 = data[~data.title.str.contains('¥£/3', na=False)]

datal = data[(data.comments>1000) & (data.comments<10000) |

data.title.str.contains("-‘.‘ﬁﬂg', na=False)]

d
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4.5.3 FEPLAAF

In[13]:

93

import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('datall.csv')

datal = data.sample(n=3)

data2 = data.sample(frac=0.2)

data3 = data.sample(n=3,replace=True)
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4.6.1 ek 53

In[14]:  import numpy as np
import pandas as pd
datal = pd.read_csv('datal2_l.csv')
data2 = pd.read_csv('datal2_2.csv')
data3 = pd.read_csv('datal2_3.csv')
data = pd.concat([datal , data2 , data3])
data = pd.concat([
datal[['id','comments']],
data2[['comments’,title']],
data3[['id','title']]
],sort=True)

g
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4.6.2 FEHEH

In[15]:
import numpy as np

import pandas as pd

data = pd.read_csv('datal3.csv')

data = data.astype(str) #22f4E Istr

data['tel'] = data['band'] + data['area'] + data['num']
data

d
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4.6.3 FE LD

In[16]: import numpy as np

import pandas as pd

items = pd.read_csv('datal4 name.csv')

prices = pd.read_csv('datal4_price.csv')

itemprices =

pd.merge(items,prices,left_ on='id',right_on='id',how='outer')
#left,right,outer

itemprices

d
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4.7.1 il

In[17]:
import numpy as np
import pandas as pd
data = pd.read_csv('datal5.csv')

data['total'] = data.price * data.num
data

d
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In[18]:

data['jF:

il

import numpy as np
import pandas as pd
from datetime import datetime

data = pd.read_csv('datal6.csv')
data['BJ[E'] = pd.to_datetime(data.;EARATE)

XE0'] = datetime.now() - data.fJ[a]

data[';

&E

RE'] = data.iE

data

!

BXK%.dt.days

d
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4.7.3 FHEAniELL

In[19]:

import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('datalZ.csv')

data[';iHZRFRE'] = round(
(data.iEH?% - data.j@#%.min()) /
(data.iE#%.max() - data.jHZ%.min())

2

J

)
data
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4.7.4 B sr4

In[20]:

import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('datal8.csv')

bins = [0,20,40,60,80,100]

data['cut'] = pd.cut(data.cost,bins,right=True)

mylabels = ['0%l20' ,'20%140' , '40%160', '60%1/80','80%1]100']
data['cut'] = pd.cut(data.cost,bins,right=False,labels=mylabels)
data

g
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In[21]:

import numpy as np

import pandas as pd

from datetime import datetime
data = pd.read_csv('datal9.csv')
data.sales.describe()
data.sales.count()
data.sales.max()
data.sales.min()
data.sales.sum()
data.sales.mean()
data.sales.var()

data.sales.std()
data.sales.quantile(0.3 , interpolation=‘nearest’) #lower higher3
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In[22]:

|

ARl

import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('data20.csv')

ga = data.groupby(by=['gender'],as_index=True)['age'].agg('mean')
print(ga)

def myfunc(x):

x['age'] /= x['age'].sum()

return x
data.groupby('gender').apply(myfunc).head()




V 5500E PANDASH T SEUESTT

4.11 2500 Hr
DT R ZHRY:

=LA
B RS TE

NN

> 4.11 ST

il E , TTERER
= RAE. fHk

IR

R SHILLER

FHITEURE

=

MO

i/1

o

DRI



V S5PUE PANDASHITSEUERDTT > 4.11 ZEFSHT

4.11 25850 M

In[23]:

import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('data2l.csv')

ga = data.groupby('gender')['id'].agg('count')
ga

ga.sum()

ga/ga.sum()

g
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In[24]:
import numpy as np

import pandas as pd

from datetime import datetime

data = pd.read_csv('data22.csv')

bins = [0,20,30,40,100]

agelabels = ['205 LA T','21E305','31340%5",'415 ) ']
data['FiR 9 E'] = pd.cut(data.fFi8,bins,labels=agelabels)
ageresult = data.groupby('EiR 9 E")['FHFID'].agg('count')
ageresult

ageresult / ageresult.sum()

pageresult = round(ageresult / ageresult.sum() , 4) * 100

s
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In[25]:

import numpy as np
import pandas as pd
from datetime import datetime
data = pd.read_csv('data23.csv')
bins =[0,20,30,40,100]
agelabels = ['205 LA T','21E305','31340%5",'415 ) ']
data['FiR 9 E'] = pd.cut(data.fFif8,bins,labels=agelabels)
ptresult = data.pivot_table(
values = 'FHFID',

index = 'SR E",
columns = "[%5I',
aggfunc = 'count’







